AP Calculus BC—Dr. Quattrin Name_ -SOCLU TLaw \Ley
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Directions: Show all work.

1. Letfbe a differentiable function with f(2)=3 and f’(2)=-5, and let g be
a function defined by g(x)=xf(x). Which of the following is an equation of the
line tangent to the graph of g at the point where x =2 ?

a) y=3x b) y-3=-5(x-2)

C) y—6=-5(x-2) y—6==7(x-2)

€) y—6=-10(x-2)
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The figure below shows the graph of the functions fand g. The graphs of

the lines tangent to the graph of g at x =-3 and x =1 are also shown. If

B(x)=g(f(x)), what is B'(-3)? 3
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Which of the following statements must be true?
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4. Let y=f (x) be the solution to the differential equation

a=y+xy with the

initial condition f (0) =1. What is the best approximation for f (2) if Euler’s
method is used, starting at x =0 with a step size of 1?
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6. The slope of the line tangent to the curve y*+(xy+1)’ =0 at (2, —1) is
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8. If g(x)=Sin“ x?, find g”(x)
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a) Show that T j—3

b)  Find the slopes of the tangent lines at all the points where the curve
intersects the line y=2.
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¢)  Determine all the points on the curve which had a horizontal tangent line.
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